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INSTRUCTIONS TO CANDIDATES

Write your nhame, centre number and candidate number in the
spaces provided on the Answer Booklet. Please write clearly and
in capital letters.

Use black ink.

Answer ONE question from Section A and ONE question from
Section B.

Read each question carefully. Make sure you know what you
have to do before starting your answer.

INFORMATION FOR CANDIDATES

The number of marks is given in brackets [ ] at the end of each
question or part question.

The total number of marks for this paper is 100.
Any blank pages are indicated.

Marks will be awarded for the quality of written communication of
your answer in Section B.
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SECTION A: Language
Answer EITHER Question 1 OR Question 2.

Unprepared Translation and Comprehension

1 Read the passage and answer questions 1(a) to 1(g).

An earthquake at Sparta causes an uprising of the Helots
(Spartan slaves). The Spartans call in Athenian help, but
change their mind, bringing about tension between the two
states.

When the Thasians were defeated in battle and besieged by
the Athenians, they appealed to Sparta to help their cause by
invading Attica and distracting the Athenians. The Spartans
agreed to this but an earthquake occurred and, under cover
of the confusion, many of the Helots escaped and took refuge
on Mount lthome.

Aaxedoyidvior obv dAAoLS Te émekaléoovto Evudyovs Kol
AOnvaiovs. ol & nAbov, Kiuwvos otparnyobvros, TAnOst ovk oAly.
uatiota & adToLS EMEKAAECOVTO OTL TELYOUAYELV E00KOVY SLVALTOL
givai, T01s 8¢ mohopkias pokpas kabsornkvias todTov évdsa
gdaivero.
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KAl Olpopa“ €K TAVTNS TNS OTPATELAS TOMDTOV AAKEOQAYLOVIONS
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kair AOnvaiois gavepa £yeveto. ot yop AAKEOQLOVIOL, ETEION TO
YWPLloV oLy ﬁlioxsro, Seioavtes TV AONvoimv 10 TOAUNPOV Ko
% vgangponou'av un t, édv ﬂapauéva)mv f)ﬂé Tc?)v gv 10oun
ngzo'Hsvrsg VEWTEPLOMOL, [LOVOVS ra)v <§Uuuaxa)v AmETEUYAY,
ELTOVTES OTL OVSEV MPOCOEOVTOL QUTADV ETL.
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o1 & AOnvaiol, OEIVOV TOINOALEVOLT KOl OUK QCIWOAVTES LITO
Aokedayoviov tovTo Todstv, VOVS ENEION ATEYWONOAY, OPEVTES
TNV YeVoUuEVNV €l tovs Mndovs Evuuayiav, Apyeiols Tols EKEIVOV
rolguiors Eoupoyor Eyévovro. ol & &v I0mun Sekat £T&l, WS OVKETL
gdVvavto qvtéyetv, EvéPnoav mpos tos Aakedoupoviovs &’ @OTE®
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gélaoty gk IleAomrovvnoov LIOCTOVOOL KAl UNOETOTE EMPBNCOVTAL
avths. EnNABov ¢ avtol Kou ToUdES KOl YOVAIKES, Kol oOTOVS Ol
Abnvoior SsEapevor és Navraxtov kardkioov®. mpoceydpnoav S¢
\ ~ 9 / 9 / \ 9 ~ \ \
kat Meyapeis AOnvaiois €s Souuayiav, kar ABnvaior ta uokpo 20
telyn pxodouncayv tois Meyoapesdotl ta amo s molews s Nicaiov
Kal EPOAacoov oOTOl.

Thucydides 1. 101ff.

Words
1ra évdea need
2n Siagopa quarrel

3 vewrepormoli  revolutionary tendency
4setvov moidoucr | am indignant

22’ otE on condition that
SxaroiCw | settle

Names

ot Apyeior (Argives)

o Kiuwv Kinwvos (Kimon)

n 100un (Ithome)

1 Navraxros (Naupaktos)

ot Meyopeis (the Megarians)

1 Nicoia (Nisaia)

n IleAlorrovnoos (Peloponnese)

(@) patiora ... kaBeornxuias (lines 3—4): why did the Spartans
need the help of the Athenians in particular? [4]

(b) Scicavres ... vewrepiowaot (lines 8—10): what does
Thucydides tell us in this section about the attitude of the
Spartans to the Athenians? [5]

(c) uovovs ... & (lines 10—11): what do the Spartans therefore
do, and what reason do they give? [2+2]



(d) Explain the grammar of the following (you may use a
translation to explain your answer):

(i) Kinwvos omparnyoovvros (line 2) [1]
(ii) vewrepiowor (line 10). [2]

(e) State the tense of the following verbs:

(i) nAioxero (line 8) [1]
(ii) mpoodcovrau (line 11). [1]
(f) From what verbs do the following forms come?
(i) érexaréoavro (line 1) [1]
(ii) kaBeornkvias (line 4). [1]

(g) Translate lines 12-22 (01 & Afnvaiot ... avroi). [30]



Do NOT answer Question 2 if you have already answered
Question 1.

Prose Composition

2 Translate this passage into Greek prose.

PLEASE WRITE YOUR TRANSLATION ON ALTERNATE LINES.
[50]

You are reminded that marks will be awarded for the style of
your translation.

At that time, Dareios was encamped on the plain. Many of his
generals wanted to advance into the mountains and attack
Alexander immediately. But a Macedonian exile, Amyntas, whom
Dareios greatly honoured, thought that this would be very foolish.
He told Dareios that Alexander’s army was very small, and that he
would easily defeat it if they fought on the plain. Dareios said that
Alexander would not dare to come down from the mountains. But
Amyntas, who knew the character of Alexander, said to him, ‘This,
your majesty, you need not fear: attack him and he will wait for
you; wait and he will attack you, and faster indeed than you wish.

Names

Dareios 0 Adp&Los -ov
Alexander 0 ALEéEavpos -ov
Macedonian 0 Makxedov MakeSovos
Amyntas o Audvras -ov



SECTION B: Prescribed Literature
Answer EITHER Question 3 (Herodotus) OR Question 4 (Plato).

3 Read both passages and answer Questions 3(a) and 3(b).

tavto A€yovtos Osuictokdéos avtis o KopivBios Adeiuovtos
EMEPEPETO, OLyaV TE KEAELWV TO Un éomt matpis kol EvpvBiadnv

2 29 ~ b / b / b / / \ \ /
OUK OV EMyYNPILELY amoAl avopl moAv yap tov OguictokAsa
TOPEYOUEVOV EKEAELE OLT®M Yvauas cvufallecdot. tavto 5¢ ol
TPOEPEPE, OTL NAWKESAV TE KAl KOTELYOVTO al AOnvai. Tote 81 O 5

/ ~ / \ \ / / \ \

OsuiotokAens Kevov T€ Kot Tous KoptvBiovs moAla te Kot Koka
b4 ¢ ~ /7 b 4 / e b4 \ 4 \ ~ / 4
gEAEYE, EMVTOLOL TE EONAOL AOY® WS €N Kol TOAS KAt YN ueCwv 1 wep
EKEIVOLOL, E0T AV SINKOOIOL VEES OPL EWOL TETATIPOUEVAL OVSOLLOVS
yap ‘EAAnvov avtovs émovras amokpoboechal. onuaivav 0 to0Ta

~ / / b p) / / ~ P /
0 Aoy® oiefarve €s Evpvfiaonv, Asymwv paiilov ersotpauuevoe: 10
U &l HevEELS avToL Kal HEVV Eosar avip ayalos: 1 ¢ umn,
avapéyels v ‘EAlada: 10 mov yop nuiv 1oL TOAEUOL GEPOVOt ai
VEEs. OAN guol melbego. &l 5¢ TavTA Un TOLNOTS, TUELS LUEV S EYOUEV
2 / \ 2 / / 2 \ 2 ) 4 (V4
avoAafovies ToUS OIKETAS Kouevueda s Zipv v ev kaiin, n
TEP MUETEPN TE E0TL €K TAAQLOD ET1, Kal Ta A0yt AEyel O UEDV 15
avtnv detv ktiodnvar VUELS & COULAY DV TOIWVOE LOLVOBEVTES
LEUVNOoETDE TOV EUDV AOY®OV.

Herodotus 8. 61-2

(a) How does Herodotus make this passage lively?

Marks are awarded for the quality of written
communication in your answer. [25]



TODTA TE QU Zépéns énoise kou Emeune €s Iépoas dyysdéovia
TNV TOPEODGAV GPL CLUPOPNV. TOVTWV SE TOV AYYEA®V ECTL

oLdev 0 1t Baocov mopayiveton Ovnrov gov: outw totol Iléponot
éEglpeTal ToDTO. AEYoLat yop ws 0Céwv AV TUEPE®V 1) 1 Taoo,
000S, TOGODTOL IOl TE KOl AVIPES SLECTAOL, KATA MUEOTIOINY 050V
EKCOTNV ITTWOS TE KAL QVIP TETAYUEVOS™ TOVS OUTE VIPETOS, OVUK
ouPpos, ov Kooua, od VOE Epyel un ob KAToVOOOL TOV TOOKEWLEVOV
aLT® SPOUOV THV ToyloTNV. O UV 81 MPATOS SPOUDV ToPadidOl Ta
EVTETOMIEVOL T@ SELTEP®, O O SEVTEPOS TM TPIT®’ TO 5E EVOELTEY
non kar aAlov kai allov SieEépyetan mapadidousva, Kato Tep
"EAAnot n Aaumadndopin tv 1@ Hoaiotw EmreAéovot. TODTO TO
Soaunua tov inrwv kaléovor ITépoar ayyopniov. n HEV ON mpaTn
és Yoboo. o’cyygxlz'n o’mucouévn, ws Eyot AOﬁvag :épﬁng, é’fgpy/g
om'a) 517 Tl ngoga)v TOUS OTOAEIPOEVTOS WS wcs TE 05009 /,wpczvn
TOOOS eoropgoav Ko eé’uuw)v Ouiunuara kol adTol NoaV &V
Ovoinot te kou evmabeinor 1 8¢ Ssvtépn oPr ayyeAin éneceAboboo
OLVEYEE OUT®M DOTE TOLS KiBvas katgopnéavro navres, fon te
Ko Ol®YN EXPEVTO anAét®, Mapdoviov &v aitin TIOEVTES. OUK
oUT® S€ mepl TV VEQDV ayOouevor tavta ol ITépoar émoievy s
mEpl aAVTP EE0EN SEUAIVOVTES.

Herodotus 8. 98-9
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(b) How does Herodotus maintain the reader’s interest in this

passage?

Marks are awarded for the quality of written
communication in your answer. [25]



Do NOT answer Question 4 if you have already answered
Question 3.

4 Read both passages and answer Questions 4(a) and 4(b).

NV ydp mote ypovos Ote Ogol uev noav, Bvnra S¢ yévn odk

Nv. éneldn 8¢ kol T00T0IS YPOVOoS NAOEV EUAPUEVOS YEVECEDS,
twroboLy avta Ogol yis EvSov ek yNs Kal mupos UEIEQVTES Ko
T@OV 0o TUPL Kad Y1) KEPAVVLTAL. EXELON & AYELY QLT TPOS PMdS
guellov, mpooéraéav Ipounbet kou "Emundet koounooi 1€ ko
velon Suvauels exaotols s mpénet. IpounBéa de mapoureiral
'EmunOevs avros veal, “Neluoavros 5¢ pov”, égn, “cmioksyou”
Kol OUT® TELOOS VEUEL. VEUMV O TOIS UEV LOYVV AVED TAYOLS
TPOCNTEV, TOLUS & ACOEVECSTEPOUS TAYEL EKOCUEL TOLS O WmALE,
101s & AomAov Sidovs LoV GAANV TV’ aVTOLS EUNYOVATO
SOVoLY €S oOTNPIOY. O UEV YAP AVTOV CUIKPOTNTL HUTICYEV,
TTNVOV PUYNV 1 KATAYEIOV OIKNOLY Eveuev: d 0 noée ueyébet,
1@ DT avTA E0wCEV' KAl TAAAA OUTMS EMAVIODV EVELEV.
tavTo 5E Eunyovarto evlafeiav Exwv un t yEvos aiotwOein:
EmeLdN O avTOlS AAANAOPOOPIDV Stadvyas ETNOKESE, TPOS TAS
gk A0S OPAS EVUOPELAV EUNYAVATO QUPLEVVDS 0OTA TUKVALS
1€ Op1E1v Kol OTEPEOLS SEOLLAOLY, IKOVOLS LEV QUDVAL YEWDVCL,
Svvarols 0€ Kal Kavuaro, Kol Els ELVAS 1ODOLY OTM®S LIUPYOL
T QUTA TADTA CTPWUVT] OIKELQL TE KOl DTOPUNS EKOLOT®" KOl
OTOSMV TO. UEV OTAOIS, TO. OE OEPUAOLY OTEPEOLS KL AVOILLOIS.

Plato ‘Protagoras’ 320c8-321b2

(a) In what ways is this opening section of Protagoras’
speech striking and interesting?

Marks are awarded for the quality of written
communication in your answer. [25]
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OTL LLEV 0DV TTOVT avcioa EIKOTWS amodEYovTaL TEPL TAVTNS TS OPETNS
ovuPovlov Sia T0 Nyetodon TavTl LETELVAL QOTHS, TODTA AEY®* OTL

S& avTNV 00 ¢LoEL NyobvTaL gival o0 GO TOD ADTOUOTOD, QAL
S180KkTOV TE Kai € émueleias moapoyiyveohor @ Qv mopoyiyvnrod,

TODTO OOl LLETCL TOVTO TEWPACOUOL AmodetEat. 0oa yap 1yobvTal <
alAniovs koaxa Exsv avOpwmol pLoEL N u'))m, 01’)5829 GUuof)Tal 065§
vovBetel 0058 S150LoKEL OVSE Ko/lag“sz TOUS Taum 8xovnxs, lva /,m
TO10VTOL a)mv axl/’L’ eleouozv ozov TOUS awxpoug n G/,mcpovg n
QoOsVELS TIS OVTMS AVONTOS (WOTE Tl TOVTWV EMLYEELV TOLELV, TODTOL
LEV yop oiuou Toooy 8t gpdost te kod TOyn Tois dvBpwmois yiyverou, 10
Ta KoAo Kal Tavavtia To0Tols” 000 08 &€ Emuedelos Kal QOKTIOEMS

xal didayns otovral ylyveclou ayoabo avBparols, Eav TiS TadTA

un Exn, alla tavovtia ToLTOV Kakd, £l To0TolS Tov ol t& Buuol
yiyvovrou Kol ol KOAJOELS Kol o VOVOETNOELS. OV 0TIV €V Kod 1]

adikia kal 1 acéPeio koi cLAANPBONV mav o Evavtiov ths molnikns 19
apetns: évOa N mas mwovrt OuuoLTor kal vovOetel, SHAov 0Tt WS EE
gmueleias kal podnocsws ktnrns odos.

Plato ‘Protagoras’ 323c3-324a3

(b) What is Protagoras arguing here, and how does the
language help to clarify and reinforce his argument?

Marks are awarded for the quality of written
communication in your answer. [25]

11



OCR

Oxford Cambridge and RSA
Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment
materials. OCR has attempted to identify and contact all copyright holders whose work is used in this paper. To
avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are
reproduced in the OCR Copyright Acknowledgements Booklet. This is produced for each series of examinations
and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material,
OCR will be happy to correct its mistake at the earliest possible opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of
Cambridge Local Examinations Syndicate (UCLES), which is itself a department of the University of Cambridge.

62522300949 = 12



